Multiply and Divide by 1000 (B)

Find each product or quotient.

53:1.000 = 11 X 1.000 =
77 X 1.000 = 78 X 1.000 =
30:1.000 = 5:1.000 =
44 :1.000 = 40 x 1.000 =
55:1.000 = 11 X 1.000 =
91:1.000 = 10 x 1.000 =
66:1.000 = 43 x 1.000 =
56:1.000 = 78 :1.000 =
98:1.000 = 23 x 1.000 =
8 X 1.000 = 13 X 1.000 =
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Multiply and Divide by 1000 (B) Answers

Find each product or quotient.

53:1.000 =0,053 11 x 1.000 =11.000
77 x 1.000 =77.000 78 x 1.000 = 78.000
30:1.000=0,03 5:1.000 = 0,005

44 :1.000 = 0,044 40 x 1.000 = 40.000
55:1.000 = 0,055 11 x 1.000 =11.000
91:1.000=0,091 10 x 1.000 =10.000
66 :1.000 = 0,066 43 x 1.000 = 43.000
56:1.000 =0,056 78 :1.000=0,078
98:1.000 = 0,098 23 X 1.000 = 23.000
8 X 1.000 = 8.000 13 x 1.000 =13.000
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